

~~120~~

~~1200~~

Ustunon

①

$$y'' - 10y' + 25y = 30x + 3 \quad \text{---}$$

$$(m^2 - 10m + 25)y = 0$$

$$(m^2 - 10m + 25) = 0$$

$$(m-5)(m-5) = 0$$

$$m_{1,2} = +5$$

$$y_c = c_1 e^{5x} + c_2 x e^{5x} \quad \text{---} \quad \text{①}$$

or  $y_p$  ~~on~~  $g(x) = 30x + 3 \quad \text{---} \quad \text{②}$

$$y_p = Ax + B$$

$$y' = \frac{d}{dx} (Ax + B) = A \quad \text{---} \quad \text{②}$$

$$y'' = \frac{dA}{dx} = 0 \quad \text{---} \quad \text{③}$$

or ① ② solution

$$(0) - 10(A) + 25(Ax + B) = 30x + 3$$

$$-10A + 25Ax + 25B = 30x + 3$$

$$25A = 30$$

$$A = \frac{30}{25} = \frac{6}{5}$$

$$-10A + 25B = 3$$

$$-10\left(\frac{6}{5}\right) + 25B = 3$$

$$-12 + 25B = 3$$

$$B = \frac{3+12}{25} = \frac{15}{25} = \frac{3}{5}$$

$$y_p = \frac{6}{5}x + \frac{3}{5}$$

$$y = y_c + y_p = C_1 e^{5x} + C_2 x e^{5x} + \frac{6}{5}x + \frac{3}{5}$$

answer

$$y = C_1 e^{5x} + C_2 x e^{5x} + \frac{6x}{5} + \frac{3}{5}$$

②

$$y = e^{2x} (C_1 \cos 4x + C_2 \sin 4x) + 5x^2 + 4x + \frac{11}{10} + (-2x - \frac{2}{17})e^x$$

⑧

$$y'' - 8y' + 20y = 100x^2 - 26xe^x$$

$$(m^2 - 8m + 20) = 0$$

$$(m + 2)(m - 10)$$

$$m_1 = -2$$

$$m_2 = 10$$

$$y_c = C_1 e^{-2x} + C_2 e^{10x}$$

$$m_{1,2} = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$$

$$m_{1,2} = \frac{-(-8) \pm \sqrt{(-8)^2 - 4(1)(20)}}{2(1)}$$

$$m_{1,2} = \frac{8 \pm \sqrt{64 - 80}}{2} = \frac{8 \pm \sqrt{-16}}{2}$$

$$m_{1,2} = \frac{8 \pm \sqrt{16 \times (-1)}}{2} = \frac{8 \pm j4}{2}$$

$$m_{1,2} = 4 \pm j2 = 2 \pm j\beta$$

$$m_1 = 2 + j\beta = 4 + j2$$

$$m_2 = 2 - j\beta = 4 - j2$$

$$\lambda = \gamma, \quad \beta = 2$$

$$Y = e^{\gamma x} (c_1 \cos \beta x + c_2 \sin \beta x)$$

②

$$Y_c = e^{4x} (c_1 \cos 2x + c_2 \sin 2x) \quad \text{--- } \textcircled{1}$$

or  $Y_p \text{ in } Q(x) = 100x^2 - 26x e^x$

Assume  $Y_p = (Ax^2 + Bx + C) + (Dx + E)e^x$

$$Y' = 2Ax + B + (Dx + E)e^x + e^x D$$

$$Y' = 2Ax + B + Dx e^x + E e^x + D e^x \quad \text{--- } \textcircled{1}$$

$$Y'' = 2A + D[x e^x + e^x] + E e^x + D e^x$$

$$Y'' = 2A + Dx e^x + D e^x + E e^x + D e^x$$

$$Y'' = 2A + Dx e^x + 2D e^x + E e^x \quad \text{--- } \textcircled{2}$$

or  $\textcircled{1} \textcircled{2} \text{ --- subtraction}$

$$2A + Dx e^x + 2D e^x + E e^x - (2Ax + B + Dx e^x + E e^x + D e^x) + 20[Ax^2 + Bx + (Dx + E)e^x] = 100x^2 - 26x e^x$$

$$\begin{aligned}
 & \underline{2A} + \underline{Dx^x} + \underline{2Dx^x} + \underline{Ex^x} - \underline{16Ax} - \underline{8B} - \underline{8Dx^x} - \underline{8Ex^x} - \underline{8Dx^x} + \underline{20Ax^2} + \underline{20Bx} \\
 & + \underline{20C} + \underline{20Dx^x} + \underline{20Ex^x} = 100x^2 - 26x^x
 \end{aligned}$$

$$\begin{aligned}
 & \underline{13Dx^x} - \underline{6Dx^x} + \underline{13Ex^x} + \underline{(-16A+20B)x} + \underline{20Ax^2} + \underline{2A} - \underline{8B} + \underline{20C} \\
 & = 100x^2 - 26x^x
 \end{aligned}$$

1500 S.J.3

$$20A = 100$$

$$A = \frac{100}{20} = 5 \quad \text{---} \quad \text{✓}$$

$$13D = -26$$

$$D = \frac{-26}{13} = -2 \quad \text{---} \quad \text{✓}$$

$$-16A + 20B = 0$$

$$-16(5) + 20B = 0$$

$$-80 + 20B = 0$$

$$B = \frac{80}{20} = 4 \quad \text{---} \quad \text{✓}$$

$$2A - 8B + 20C = 0$$

$$2(5) - 8(4) + 20C = 0$$

$$C = \frac{-10 + 32}{20} = \frac{22}{20} = \frac{11}{10} \quad \text{---} \quad \text{✓}$$

$$(-6D + 13E) = 0$$

$$-6(-2) + 13E = 0$$

$$E = -\frac{12}{13}$$

$$y_p = 5x^2 + 4x + \frac{11}{10} + \left(-2x - \frac{12}{13}\right)e^x$$

$$y = y_c + y_p$$

$$y = e^{4x} (C_1 \cos 2x + C_2 \sin 2x) + 5x^2 + 4x + \frac{11}{10} + \left(-2x - \frac{12}{13}\right)e^x$$

7)

Abstraktion

Ansatz

$$y = c_1 e^{3x} + c_2 e^{-3x} \quad \textcircled{1}$$

$$y'' - 9y = 54$$

Ansatz

$$(m^2 - 9)y = 0$$

$$m^2 - 9 = 0$$

$$m_1, m_2 = \sqrt{9} = \pm 3$$

$$y_c = c_1 e^{3x} + c_2 e^{-3x}$$

$\Rightarrow$  ist ein Ansatz 54

oder  $(D^2 - 9)y = 54$

$$D(D^2 - 9)y = 0 \cdot 54 = 0$$

$$D(D^2 - 9)y = 0$$

Ansatz

$$m(m^2 - 9) = 0$$

$$m_1 = 0$$

$$m_2, m_3 = +3, -3$$

$$y = c_1 + c_2 e^{3x} + c_3 e^{-3x}$$

$$y_p = c_1 = A$$

$$y_p' = \frac{dA}{dx} = 0, \quad y_p'' = 0$$

माना  $y_p, y_p', y_p''$  को मान

$$0 - 9(A) = 54$$

$$A = \frac{54}{-9} = -6$$

$$\therefore y_p = -6$$

$$\text{अतः } y = y_c + y_p$$

$$y = C_1 e^{3x} + C_2 e^{-3x} - 6 \quad \text{--- } \boxed{\text{A}}$$

---



$y = c_1 \cos x + c_2 \sin x + \cos x \ln |\cos x| + x \sin x$  ①  
 —————  $\int$  undetermined.

④

$$y'' + y = \sec x$$

Ansatz

$$(m^2 + 1)y = 0$$

$$(m^2 + 1) = 0$$

$$m^2 = -1$$

$$m = \sqrt{-1} = \pm j = 0 \pm j = a \pm bi$$

$$m_1 = i, m_2 = -i$$

$$y_c = e^{ax} (c_1 \cos bx + c_2 \sin bx)$$

$$y_c = e^0 (c_1 \cos x + c_2 \sin x)$$

$$y_c = c_1 \cos x + c_2 \sin x$$

Part

$$y_p = u_1 \cos x + u_2 \sin x$$
 ②

$$y_1(x) = \cos x, \quad y_2(x) = \sin x$$

$$y_1'(x) = -\sin x, \quad y_2'(x) = \cos x$$

$$W = \begin{vmatrix} y_1 & y_2 \\ y_1' & y_2' \end{vmatrix} = \begin{vmatrix} \cos x & \sin x \\ -\sin x & \cos x \end{vmatrix}$$

$$W = \cos^2 x + \sin^2 x = 1$$

Wir lösen in der Form  $y'' + py' + qy = f(x)$

$$f(x) = \sec x$$

$$v_1 = \begin{vmatrix} 0 & y_2 \\ f(x) & y_2' \end{vmatrix} = \begin{vmatrix} 0 & \sin x \\ \sec x & \cos x \end{vmatrix}$$

$$v_1 = -\sin x \sec x$$

$$w_2 = \begin{vmatrix} y_1 & 0 \\ y_1' & f(x) \end{vmatrix} = \begin{vmatrix} \cos x & 0 \\ -\sin x & \sec x \end{vmatrix}$$

$$w_2 = \cos x \sec x$$

$$U_1' = \frac{v_1}{w_1} = \frac{-\sin x \sec x}{+1} = -\sin x \sec x$$

$$U_1 = \int -\sin x \sec x dx = - \int \frac{\sin x}{\cos x} dx =$$

$$U_1 = - \int \tan x dx = - \ln |\sec x| - (-\ln |\csc x|)$$

$$U_1 = \ln |\csc x| \quad \text{--- (2)}$$

$$U_2' = \frac{v_2}{w_2} = \frac{\cos x}{\cos x} = 1$$

$$U_2 = \int 1 dx = x \quad \text{--- (3)}$$

using (1) (2) (3)

$$y_p = \cos x \ln |\csc x| + x \sin x$$

$$y = y_h + y_p = c_1 \cos x + c_2 \sin x + \cos x \ln |\csc x| + x \sin x \quad \text{--- (4)}$$

ah oraj.  
ahd/ida an wu wu

1

5

$$(D^2 + 4D + 3)y = 0$$

an m

$$(m^2 + 4m + 3) = 0$$

$$(m+1)(m+3) = 0$$

$$y_c = C_1 e^{-x} + C_2 e^{-3x}$$

an.

$$\frac{1}{D-m} f(x) = e^{mx} \int e^{-mx} f(x) dx$$

an

$$(D^2 + 4D + 3)y = 0$$

$$(D+3)(D+1)y = 0$$

$$y_p = \frac{1}{(D+3)(D+1)} (0)$$

$$y_p = 0$$

$$y = C_1 e^{-x} + C_2 e^{-3x}$$

(6)

$$(D-2)(D^2+2D+10)y = 0$$

characteristic

$$(m-2)(m^2+2m+10) = 0$$

$$m_1 = 2$$

$$m_{2,3} = \frac{-2 \pm \sqrt{2^2 - 4(1)(10)}}{2(1)}$$

$$= \frac{-2 \pm \sqrt{4-40}}{2} = \frac{-2 \pm \sqrt{-36}}{2}$$

$$= \frac{-2 \pm 6\sqrt{-1}}{2} = -1 \pm 3i = a+bi'$$

$$y_c = c_1 e^{2x} + e^{-x} (c_2 \cos 3x + c_3 \sin 3x)$$

$$y_c = c_1 e^{2x} + c_2 e^{-x} \cos 3x + c_3 e^{-x} \sin 3x$$

$$y_p = 0$$